>
A & 0l & AF 2 E A A
20219 20a SALHSESH A
AN tA 2t
M 4L Y FHEZH ZHIHA
ool MY HHL(HBTBSHEN) CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ot zte| 830,085 10,000, 000 29,169,915
HEAY FHEZY YA 830,085 10,000, 000 29,169,915
S MWL (G2 SEEE3H) 762,343 3,290,284 A 2,527,941
ERHASX A2 70,000 59,349 10,651
201 L2l 65,000 27,000 38,000
01 At 22l 65,000 27,000 38,000
O =&l 3,000
O 284l ==& 30,000
O HERXN & =3 15,000
O g& 08 === 10,000
O 245 HARY S 242 2,000
O MREJII 228 7Y 5,000
202 O4dl 5,000 5,000 0
01 = LH 4 Hi 5,000 5,000 0
O ERHAEARX HI2ZF g2 =& 5,000
HAZHFHX G2 ALY 599,343 600,085 AT42
307 212+0 & 3,000 2,000 1,000
04 DI2HEHALAFRI 2 & 3,000 2,000 1,000
HdUTHFHX AKX A 3,000
401 AIEHI L 201 207,041 300,425 A 93,384
01 A& Bl 205,551 298,262 292,711
Od&ZHEFTHI G2 ALY 205,551
03 Al S THHI 1,490 2,163 AB73
OEAZHE=HIG XA AL 1,490
402 RI2HXt20l ™ 389,302 297,660 91,642
01 212t 2 AL E = (REM ) 389,302 297,660 91,642
Od&ZEFHX G X AL 389,302
dA2E 2 RAE 93,000 2,630,850 A 2,537,850
401 AIEHI L 2 0] 93,000 2,630,850 A 2,537,850
01 A& HI 93,000 2,630,850 A 2,537,850
O2LESHIN=LE ALY 93,000
LY 0 FEM4(HdU2HSHSA) 67,742 6,709,716 A6,641,974
Ol =2 &AL 40,000 70,000 A 30,000
201 ¢4l 5,000 35,000 A 30,000
01 At 22l 5,000 35,000 A 30,000
O0IF=2&AY =& 5,000
202 044l 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
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